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An equation of the tangent line to the curve
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Aﬂ' § q,% 7. 1If Newton’s Method is used to approximate the root of the equation
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9.  The radius of a circular disk is given as 12 e¢m with a maximum error in
measurement of 0.1 cm.

Using differentials, the maximum error in the

calculated area of the disk is approximately equal to
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and the other travels west at 60 km/h. At what rate is the distance
between the cars increasing two hours later?
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§ 453 25.  Which one of the following statements is TRUE about
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28. What is the smallest possible area of the triangle that is cut off from
the first quadrant by a line through the point (2,4)?
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